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B. Sc Semester II1, Examination

PAPER CODE : 3801/ 4199

Paper No : ST — 303, [Quantitative Analysis]

e 1
Time: 25 Hours

Maximum Marks 70

Instructions:- (1) There are FIVE compulsory questions in this Q. Paper.
(2) All questions carry equal marks.
(3) Use of Scientific calculator is allowed.

(4) Graph papers & statistical tables will be provided on request.

b)

What are the advantages of L. P. P.?

Explain the graphical method of solving L.P.P.

OR

Explain Mathematical Model of Linear Programming Problem.

Explain various steps of Simplex method for solving a Linear programming

problem,

Define the following terms:
i.objective function ii. Solution iii. constralnts iv. basic feasible solution

Solve the following L P P using graphical method.
Maximize 7 = 20X, + 80X,

subject to

4X,+6X,<90
8 X;+6X; <100

5Xi+4X,<80 ,

OR

X, X520

Define the following terms of L.P.P.

i.feasible Solution ii.slack variable iii. surplus variable iv. optimal Solution.

Solve the following L P P using Simplex Method.
Maximize Z= 6X,+8X,

subject to

5 X, + 10X, < 60
4%, + 4X, <40

X1, X220



3 a) Explain the following Terms:

i) Two-person zero-sum game

ii) Principles of dominance

ii)Pure strategy in game theory

3 b) Solve the following game,

3 b)

4 b)

1) Define the following —i. Saddle Point, ii. Optimal Strategy.

2) Explain the two person zero- sum game giving a suitable example,

Player B
By |B,|B;3|By
Player | A, 7 13 |4
A A5 |6 |4 |5
A; |7 (2 |0 |3

OR

Use dominance property to find optimal strategies and value of the following 6

Game-

FIRM -A

B,

5

0

10

55

60

10

15

Discuss the difference between de

cision-making under certainty, uncertainty.

6

For the following pay-off matrix, determine the most suitable strategy using 1) 8

Maximin 2) Maximax 3) Laplace principles

ACTS
EVENTS | A; | Az | Az} Ay | As
S 101251011520
So -5 1101-5 110 |-5
S3 15(5 [10|10;10




OR

4 a) Explain in brief giving illustration, different types of Decision making 6

problems.
4 b) For the following pay-off matrix, determine the most suitable strategy using 8

Hurwitz principles

Events Strategy
Al |A2 | A3 | Ad

El (20|15 |13| 8
E2 15| 8 | 14|18
E3 71171 8 |16

For Horvitz principle, index of optimism a = 0.55
5 a) Explain Expected Monetary Value (EMV) Criterion in decision theory.
5 b) Decide the best act for following Pay-off matrix by applying —

(1YHurwitz Criterion [ a = 0.6]
(2)Laplace Criterion.

State of ACTS
Nature | A; A, A3
S 1000 | 500| 700

Sy 2000|800 O
S; [ 1500|800 | 1100

OR

5 a) Explain the terms:—
i. Pure Strategies, ii. Mixed strategies, and iii. Optimal Strategy..

5 b) Explain minimax and maximin principle giving example used in the theory of 8

games.
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3 b) 2uddl Hd et and(Pay - off) slells Hie Seedi G5e vld Mt o Heu Hadl,

walsl B

B, | B, |B;| By
wewsl (A |1 |7 |3 [4
A TA[5 6 |45
Az|7 |2 |0 |3
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A ]35[35]25] 5
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A3 |40 (501 0 | 10
Ag | 551601015
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e
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4 b) el audz ARLS He-

gestl | Ay | Ay |As [ Ay

E; (2015|138

E, 15| 8 |14 .18

Es | 7 |17] 8 | 16
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Stateof, A C T S
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S1 1000 | 500 | 700

Sy 2000800 0O

Ss 1500 | 800 | 1100

OR
5 a) cllodetl uel aneved
1) 2lé AL a ) (s aAla, 3) e e
5 b) @893 ¥ o3ag-l Rald Gelerel vl auvel



